% RHELSE iOx
B M B B ] =
EXLT
RYE T m3 72.9
#BEREL (C) 1.0m=W1<4.0m m3 24.1
#BREL (D) W1<1.0m m3 -
EMEBIE T m2 51.2
SRH L8 W=2.50m(B1300) = 1 18.0m
SRH L8 W=2.50m(B1800) = 1

12.0m




it - = RH LSEEELTT it E £
T#) E(SE R C Fu( C BIF (+8)) K(SE
- = BB | BRYE (£ 7) (_._) _ ' EREL ( 0) U_.(_ )= ,gﬁ IE (£ _._( )z —
Br @ | P ¥ | 3 B (W m | FH| B |B@E | F| LB
A1
NO. 43+0. 1 0.0
NO. 43+10.5 10.5
NO. 43+10.5 0.0 1.8 - - 0.7 - - 1.7 — —
KE3-1 2.5 1.8 1.80 4.5 0.7 0.70 1.8 1.7 1.70 4.3
NO. 44+2. 2 9.5 1.8 1.80 17.1 0.7 0.70 6.7 1.7 1.70 16.2
NO. 44+2.2 0.0 2.5 - - 0.7 - - 1.6 - -
KE3-2 8.1 2.5 2.50 20.3 0.7 0.70 5.1 1.6 1.60 13.0
NO. 44+19.9 9.9 2.8 2.65 26.2 0.7 0.70 6.9 1.6 1.60 15.8
Earyi)—+ 4.8 3.0 1.9
= B 72.9 241 51.2
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